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Ao/o vs. E for 54Cr(n,el.)
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Ao/o vs. E for 54Cr(n,nonel.)
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Ao/o vs. E for 54Cr(n,y)
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Ao/o vs. E for 54Cr(n,el.)
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Ao/o vs. E for 54Cr(n,nonel.)
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Ao/o vs. E for 54Cr(n,inel.)
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Ao/o vs. E for 54Cr(n,nonel.)
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Ao/o vs. E for 54Cr(n,inel.)

60
50 —
40
30
20
10

0

10° 10/

0
— 0T

Linear Axes:

Rel. Standard Dev. (%)

Logarithmic Axes:

Energy (eV)

— 0€

— Ov
— 09
09

Correlation Matrix

1.0 -1.0
0.8 -0.8
0.6 -0.6
0.4 -0.4
0.2 -0.2
0.0 0.0

B — 0¢

('|8UOU‘U)J:)179 10} 3 'SA 0/0V




Ao/o vs. E for 54Cr(n,y)
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Ao/o vs. E for 54Cr(n,2n)
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Ao/o vs. E for 54Cr(n,2n)
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Ao/o vs. E for 54Cr(n,n1)

60
50 —
40
30
20
10

0

10°

10/

Correlation Matrix

1.0
0.8
0.6
0.4
0.2
0.0

-1.0
-0.8
-0.6
-0.4
-0.2

0.0

Linear Axes:
Rel. Standard Dev. (%)

Logarithmic Axes:
Energy (eV)
B N W DA O O
O O © © O o O
I I N |
i L
o — -
(o]
i L
o — -
\‘

(Tu‘u)J:)179 10} 3 "SA 0/OY




Ao/o vs. E for 54Cr(n,n2)
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Ao/o vs. E for 54Cr(n,n3)
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Ao/o vs. E for 54Cr(n,n4)
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Aol/o vs. E for 54Cr(n,ncont.)
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Ao/o vs. E for 54Cr(n,y)
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Ao/o vs. E for 54Cr(n,p)
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Aol/o vs. E for 54Cr(n,O()
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